DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

DIVISION WITH 1 TO 10 oo
6) 46.662 = 6 = ) —39320 = 10 =
02 —10644 = 3 = 12672 4 =
63) 49 = 9 = ) 59.066 - 7 =
6) —61.523 =7 = 1) 401.94 =7 =
65) —1095.9 = 3 = s 94.59 =10 =
66) 62973 — 9 = 8) —4.858 =1 =
67) 352.80 =— 0 — 82) 393.00 =5 =
65) —85.0 = 5 = 83) 434.28 — 7 =
609 —17.619 =7 = s —=T7702 +2 =
0) 20888 =~ 7 = ) —06750 = 10 =
M —15.768 = 3 = 86) —4867.5 = H =
2 16.371 =3 = s —48190 + 10 =
) —8071 = 10 = 88) —14.136 = 3 =
w9212 =92 = 89) —73.192 =8 =
) —0800 = | = 90 —3285 +5H =

Mathematics: Division - Level 6 - Horizontal - Set 5
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